Kanklés 2

Andante. = 70
2

Stpuoklélés

J. Baltramigjunaite

== e e e
(&? = £ 55 oererer
\Qj/ ),
’
(&)™ (i = =~~~ — —~ — -~~~ """ @ Fninpniy ~ ==~~~ ~ "~~~ 1 )
4 — |, = . A i
mp
11
_9 p—— | % ——
| | I ﬁ ! I I ! 1 | | | | | | |
mp
15
i i ! —_— ! | ! i - 1 l r— i — —
B FLLEE] irrre
f mf *
19
—9. A P sy —— ’ i i O — K l N hr f N p——
é‘i ? | | | | H | | | . % | | | | |
24
I — [ — p—— f Y p— [ —— —— f K
i N N — N N i i )
Eisrrr Prriil i rrr s,
29
_p I \ [r—— [r——
] B —— T —— ———— T T — T
mp
33
% l K: E ! ’ Y i — i i i T i i i
| | | | | | | | | |
mp mf
37
[r—— —

V.S



T R e e N

gt tr tisrrrrrriis tirrrre.,

65

|§||P\ —— —— —
’Iﬁ |||I—I|||Iﬁ lllllll

I I I | 1 |

7—79.!_!_Iii\"\|hi.\.....!—l_%.*f—....
g-ﬁzﬁgﬁé@qqzm $53885 555 s




